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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions Maximum Marks Time Duration

each section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude 25 50

(Basic Arithmetic Skill)

Total 100 200
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Find the compound interest on ¥5,50,000 at 7% per annum for 2 years,

compounded annually.
%5,50,000 TR 7% S I 3hl G H 2 AW hl Ashdl, ATS T hiTSIT, ST ATMHeh &Y

o gIfSTId g 2
T -/ Time =2
P- Ssceo o @0\5@ s r il \\Qs\a) 80,605

3% SO0
~@soe A - b) 62,695
27003+ TS f/lﬂ =
o e ) ¢) ¥79,690

d) 79,695
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What is the smallest natural number that should be added to 54321 so that
the sum 1s divisible by 67

GeTd BT TTehieh GE&AT T & 1519 54321 H SIIST STHT AT(eT dlich I 6

ECIERRIV:

a) 5

b) 1

c) 7



J' SSC CHSL 2022-23 A -T2V

How many spherical balls of radius 5 cm can be made by melting a spherical

clay ball having a radius of 15 cm?

S\ AN T (@

15 9T B3 et 1) o ues AR et ahl TUeratent 5 9T B aret forad
N NN N
AT, Mt ST ST Eehd &2

D
AF‘('\C\.SB Alls a) 18
gl = ‘%/
TS b) 3
: %é ’S“_F %‘V Sy Se
X C - 9

d) 27
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What 1s the value of 12 -8 +2- {16 x-2+3 X 5-41?

12-8+2-{16><—2+3%HH T &7
iy

) %‘ ——{"’?‘\ i} a) 0

= b) 1

‘4 s
( ':”-} } c) 29

d) 45
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A’ and ‘B’ are two stations 494 km apart. A train starts from station ‘A’ at 3 p. M
and travels towards station ‘B’ at 83 km/h. Another train starts from station ‘B’ at 4
p.m. and travels towards station ‘A’ at 54 km/h. At what time do they meet?
A' R 'B' &1 M 494 foprl g1 &1 Teh 7 TXM A" H SIWg 3 Sl oAl 81 3 €I ‘B
bt 3AIT 83 Torefi/eret Al i & AT LT 81 T ¢F TR 'B' ¥ MW 4 &1 & &l &l AR
I A Y 3R 54 forefiy/siar ot 71fe & I et 21 o fore wme firerd 22

\%3\“‘\\5 ;\
ey
P\ ( i () ,\ Q——\-—

Q'

oL
"gooﬁ)m / ’3

\i?ﬁ“\?\\ S )2{‘( St c) 8 p.m.




One of the angles of a triangle 1s 108°, and the other two angles are equal. What 1s

the measure of each of these equal angles?

T To1ST o1 Tk 10T 108° &, I 3= 3T hI0T SIsK & 3 ST IVl H | Tedsh Sl 41T

FT 22
f\
e, @2
0@ NS
B = -

\ b) 72°
/ > )
{BEDSN
\ C) 78°
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In a panchayat election Candidate A secured 30% of the total votes and did NOT M

qualify by 6 votes. Candidate B secured 40% of the total votes and got 6 votes more
than the bare minimum to qualify. The total number of votes were
Ueh G <HTE H ST A 3 el Hal 3T 30% STH fordT 3R 6 Hal € 34€F|TEITH=I%“T
1| PTG B 7 %ed Hdl oh|@__‘14_§lmmaﬁT34§ﬁTW L oh T =ATH 7T H 6
3Hereh WA ITH 15T F1ET oh! Shed el off|
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A vendor bought oranges at 5 for €15 and sold them at 3 for 5. Find his loss percent

U ToIshdT 4 15 | 5 Hal @iQ 3T TS5 H 3 Gal si<l| 38! gl TaeTd J1d shiteig)

=

2 = Qs &
gl = S (s 4
> = 2 a) 41?L /0
(A =y b) 425 %

339

4
%_/ C) 436 %

el \)\66 TV\“ '
4



40 men can complete a piece of work in 18 days. 9 days after they start working
together, 5 more men join them. How many days will they now take to complete the
remaining work?

40 T&Y Tsh <hTH 2k 18 Ta=T H U T ek @l 3 Teh ©TY hTH AT & hid &, 9 To1 o6 o1a
5 I TY 37k G (S ST 2| T H1H hl T HA § I 37 feha fod RIAT?




A sum of money 1s invested at a rate of compounded interest that 1s paid out yearly

In the first two years, the interest was ¥400 and ¥420 respectively.The sum 1s

<Ishel (<5, SATST shl S I Teh ETITRT ShT FeI=T TohaT STTT & TSRt JTNeh YT foRd STTdT &)
Uget &1 N 8, SATST ShHST: T400 3TR T420 M| &S 8

Lo gfo‘/ a) Rs. 7,500
P = = =
e
\m %Qf =N b) Rs. 9,530
. /c;* j _:%0/
C:& NN %S ¢) Rs. 8,000
5= ST

d) Rs. 8,765
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A man spends 20% of his monthly salary on food and one-fourth of the remaining
salary on charity. If he saves ¥9,600 per month, which 1s equal to half of the balance
after spending on food and charity, then his monthly salary is:

- \
Teh JTTSHT 3794 HTTHeh I shl 20% HISTH 9T 3T Y a9 okl Teh TNATS 19 I G hid]
2| Ffe 98 gfd °1€ 29,600 S=TdT 2, S HISH 3R & I e hid o 1e T LFT1ST oh 318

AN N o 2\
o S 8, Al 3Gkl AT dd &

1) Lncoreny = (007
LWk Vo Jood= 207 (qonLose > a) £28.000
= R PRI (%) 732,000
Q\QW\M\' N = ) 332,
(RfE) S ¢) ¥26,000
J VAERN 2 d) 30,000
|6
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What 1s the length of the arc of a circle whose radius 1s 35 cm and arc subtends an

angle of 36° at the centre of the circle? (Take Tt=22/7)

c

Il oh 39 =T hl eTg T & Toreeh! FIsar 35 94T 2 3 SI 9 o ohg UX 36° T iUl

Hd|

a) 44 cm

b) 22 cm

c) 10 cm

d) 220 cm



2 JJJ SSC CHSL 2022-23 . -BYT:TVPNE

Calculate the third proportional to 4, 15, and 24.
4, 15 3 24 o 18 GHTTATAT ST TUHT L

L\‘ \5)7\/&%

|
e
S R

Wkam = 1SRN b) 29/5

c) 21/5

d) 26/5
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Find the value of ‘a’ using the concept of BODMAS.
BODMAS hl STeETUTT 3T YA FLd §T 'a' T A Jd il
42 ~2+ax3—22=28

a) 4
g\ &+ 2 = TF
=N b) 6
a=)
c) S

74
£:420) \ d) 3



s I SSC CHSL 2022-23 A= PYTL V)4

A washing machine is sold at a discount of 10% on 1ts marked price. A further

discount of 5% on the initial selling price 1s offered if a person makes the payment in

cash. If the marked price of the machine 1s 54,000, how much will a customer

paying 1n cash have to pay for purchasing 1t?

T TR 7R 36eh Jfohd T TX 10% o1 B T o=l STl 81 Afe RIS ATk Foha J

e ——

VAT LT @ A1 SR ToTshl T W 5% 3h1 3T B 3 Sl 8 Afs 7 1 3ifohd 7o

% 54,000 €, A1 U1 3h! 36 TRIGA o fTU fohelT Tohe I AT ST

SP- %‘\QHC]L? \/\\jS > a) 45000
L \>7Q0\‘§L K b) 6000

c) SoY<so

pUIELSE d)a¢l o




The length, breadth and height of a room are 7 m, 4 m and 9 m, respectively. Flnd
the cost of whitewashing the walls of the room and the ceiling at the rate of £7.50 per
m2.

Ueh ShH shl TS, TNSTS IR TS ShHST: 7 HieT, 4 HieT 3R 9 HeT B T 7.50 Ufd Hiew2

shl T © ShHY shl SIART 3T B UL T%hal hi hl o4 JTd shIT |
op = 2 (LoxonaWy) 0,\:_"::\ 2) €1,965
N

b) ¥1,695

R{%\WQQ\W o

c) T1,968

d) T1,698
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